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https://www.ipcc.ch/site/assets/uploads/2018/03/ar4_wg3_full_report-1.pdf
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https://www.ipcc.ch/site/assets/uploads/2018/03/srccs_wholereport-1.pdf
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https://www.ipcc.ch/site/assets/uploads/2018/03/ar4_wg3_full_report-1.pdf
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https://www.eere.energy.gov/
https://www.ipcc.ch/site/assets/uploads/2018/03/ar4_wg3_full_report-1.pdf
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https://cmi.princeton.edu/resources/stabilization-wedges/
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12For more information, visit our website at http://cmi.princeton.edu/wedges.

https://cmi.princeton.edu/resources/stabilization-wedges/
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H = ___  (5 max) 
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